
Solving S - L
Eigenvalue Problem :

Negative Eigenvalues



- y'
'

* Hyun
osxsb

Y'6) thyco) -_O

ya )=0
-

Negative eigenvalues :

1=-9, I
> 0

The key step here is
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So
, applying Bcs we get the system
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there exists one negative eigenvalue⇒
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Done with eigenvalues . Now find a

corresponding eigenfunction .
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(we can find an approx in Mathematica)
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thus an eigenfunction is :
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This eigenfunction corresponds to
the eigenvalue -102 L O .
The geometric representation of

the Bcs
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In this setting we have a negative e
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